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QUESTION 1

A network team has decided to utilize NSX to enable microsegmentation in its environment. Several networks have
been created to support a three-tiered application network. An architect has been asked to incorporate this into the
vRealize

Automation environment and consume these networks on demand.

What are two things the architect needs to take into consideration in this scenario? (Choose two.)

A. usable Subnet Mask in the network profiles

B. routed network profiles assigned to virtual machine port groups in the reservation

C. external network profile for each application tier

D. routed network profile for each application tier

Correct Answer: CD

Reference: https://www.vmware.com/content/dam/digitalmarketing/vmware/en/pdf/products/nsx/vmwareautomation-
fundamentals-book.pdf

QUESTION 2

An architect has been tasked with designing a blueprint containing web, application and database machines utilizing
NSX for networking. Upon provisioning, network traffic must be automatically restricted to allow:

1.

The web server to communicate only to the application server

2.

The application server to communicate to both the web and database servers

3.

The database server to be blocked from communicating to the other servers

Which two methods could the architect use to accomplish this? (Choose two.)

A. Assign an appropriate security group to the entitled items or entitled service within the entitlement.
B. Add an appropriate security group to the blueprint from within the blueprint properties, under NSX Settings.
C. Create or update an appropriate security group within NSX to include the provisioned machines.
D. Specify an appropriate security group in the blueprint and assign it to each machine.

E. Use an Event Broker subscription to ensure that provisioned machines are receiving the appropriate security group
assignment.
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Correct Answer: CD

QUESTION 3

An architect for a vRealize Automation (VRA) deployment project has met with the IT team and gathered the following
requirements:

1.

Automated 30-day power off and archive
2.

Keep costs as low as possible

3.

Utilize built- in functionality

4,

One click storage provisioning

5.

API calls to VRA and NSX

6.

Custom Portal

To which infrastructure quality does the One-click storage provisioning technical requirement map?
A. Security

B. Recoverability

C. Performance

D. Manageability

E. Availability

Correct Answer: D

QUESTION 4

An enterprise class software company merged with an enterprise class storage provider. Both had operational vRealize
Automation environments prior to the merger. The architect has recommended a combined private c¢ loud (vRealize

Automation) environment.

The following requirements have been set:
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?There should be separate email servers for notification. ?Blueprints should NOT be visible across organizations.
?Property group(s) should be unique to each organization. ?Machine prefixes should be unique to each organization
with

duplicate machine names. What should the architect recommend to meet these requirements?

A. Separate tenant for each organization.

B. Separate business group for each organization.

C. Custom group for each organization as tenant administrator within the default tenant.

D. Separate fabric group for each organization.

Correct Answer: A

QUESTION 5

A company is in the process of finalizing its cross-team requirements for its Cloud Management Platform design. The
Cloud Infrastructure team has indicated that it would like a way to interact with the platform programmatically. After
some research, the decision is made to use vRealize CloudClient. What are three use cases for using the selected
command-line utility? (Choose three.)

A. Browse the catalog and submit a request.

B. Execute a workload reclamation request.

C. Import and export blueprints and other content to a human-readable format.

D. Update DNS on the vRealize Automation appliance.

E. Execute vRealize Orchestrator workflows.

Correct Answer: ACE

Reference https://code.vmware.com/tool/cloudclient/4.5.0
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